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39- The population of rural are as is ...
steadily migrate to big cities.

1) declining 2) developing

3) improving 4) increasing
40 - My father wasn't rich enough to buy me a bicycle|
when | was a child. | wish he ...

because peoj

1) were 2) was 3) had been  4) has bg
41-I'd love to buy a new overcoat, | can't...... the money
1) afford 2) attend 3) avoid 4) award

42- “What's that gentleman’s name?”
“l can’t remember ... “

1) his name is what 2) his name what is

3) what his name is 4) what is his name
43- “Did your father ask you about your exam?”
“No, he asked me ...

1) had you done your assignments

2) have you done your assignments

3) if | had done my assignments

4) if | have done my assignments

44-Aliis ... a clever student that he understands the lessg
quickly.
1) so 2) too 3) such 4) much

45- “what do you do now?”
“I'm working in a...”

1) car factory

3) factory’s car

2) car’s factory
4) factory car

46- you will not be able to answer the question ... yo
review chapter 6.

1) in case 2) since 3) so that 4) unless
47-* | couldn’t solve the problem”
“you ... have studied the lesson”.

1) can 2) might 3) should 4) would

48- Your dictionary is much better than my dictionary.
| wonder why you never use...

1) ours 2) mine 3) yours 4) theirs
49- The engine doesn’t work well.
why don’t you have it checred by a ...?

1) chemist 2) mechanic  3) painter physician
50- you can find many people with this ... tbhugh out
the country.

1) atmosphere
3) character

2) experiment
4) imperative
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